PRZEKROJE GEOTECHNICZNE W SKALI 1: 1980

IL=0,0
G
IL=0,20 Il c IL=0,25 \

N
161,0 \ Ila \

Il a

160,0 Ihd
159,0
7
166,2 6
[wmn.p.m.] 165’8 II - II
167,0 - T 3 2
G 9
IL=0,25 Ild G 164,8 165.0
166,0 Il c IL=0,35 = 7
5 :
\ $75 IL=0,25 Ire \\\
165,0 \ s e Gp .
IL=0,25 . ™, °
164,0 Ila 5
Il'b
Il'b
163,0
G G G
IL=0,15 IL=0,05 IL=0,15
162,0
161,0I IL=O,15\
Il c G
IL=0,25
7A
- 165,5
6A 1625 . Vil - Vil
wmnpm] 164,8 ’
165,01
]
164,0
163,0I
162,0I 35
161,0
160,0I
159,0

zat. nr 3



[wmn.p.m.]
167,07

166,0I
165,0

164,0

163,0,

162,0

161,0

[wmn.p.m.]

167,0
166,0

165,0
164,0
163,0I
162,0
161,OI

[wmn.p.m]
165,01

164,0I
163,0

162,0

161,0

160,0

159,0

PRZEKROJE GEOTECHNICZNE W SKALI 1: 1000

100
u-m 10
I
Ild
Ilc
IIb IIb
G G
IL=0,15 IL=0,15
Ilc . 72
IL=0,25 e |CE2025
8
56 8A
7 IV-IVv 1668 166.6
10
Il d 165,7
Vi-vVi 4
164,8
I di=03
1L=0,35 Il ¢ W
; !0,5 '
Ilb
™
N o
IL=0,15
G
IL=0,15
G \
s lic IL=0,25™,
IL=0,25

zat. nr 3



	Strona 1
	Strona 2

